v YN GIN

B
N.+M3x18” g

§

MAX-65LA

(16500)
MAX-65LA (Silver)
(16512)
TYPE 60]
(26581000)
15—
1
&
2
N.+M3;;3
N.+M?x12
141 o
D
P
o » C.M2.6x18
—14 3 AN
N.+M3.5x6
T.+3x10
k Type of screw
C...Cap Screw M...Oval Fillister-Head Screw
F...Flat Head Screw N...Round Head Screw S...Set Screw
No. | Code No. Description No. | Code No. Description
1 26504000/ Cylinder Head Assembly (Midnight Blue) 1 |22081408| Throttle Lever Assembly
26504010| Cylinder Head Assembly (Silver) 1-1 22081313 Throttle Lever Retaining Screw
1-1 |26021110 Head Gasket 2 126581200 | Carburetor Rotor
2 26503000/ Cylinder & Piston Assembly 3 (26029500 | Air-bleed Screw
3 |45606000| Piston Pin 4 |26581100| Carburetor Body
4 |29505000| Connecting Rod 5 |22826131| Throttle Stop Screw
5 ]26581000| Carburetor Complete (60J) 6 |26029430| Nozzle For Remote Needle Valve
6 |45010002| Propeller Nut 7 146215000 | Carburetor Rubber Gasket
7 128009002 Propeller Washer 8 |25081700| Carburetor Retaining Screw
8 [26508000| Drive Hub
9 126022200| Thrust Washer
10 26501000/ Crankcase (Midnight Blue)
26501010/ Crankcase (Silver)
11 |26022000| Crankshaft
12 26507000 Cover Plate
13 |26582931| Needle Valve Assembly Bracket
14 26582900 Needle Valve Assembly
14-1124081970 Needle Assembly
14-2124981837 "O" Ring (2pcs.)
14-3 /26381501 Set Screw
14-4 126711305 Ratchet Spring
14-5|26582910 Needle Valve Body 0.S. GENUINE PARTS & ACCESSORIES
14-6 26582920 Needle Valve Body Retaining Screw Code No. Description
15 |26513000| Screw Set 71905200 | Radial Motor Mount
71605300 Glow Plug A3 45024000 | 5/16"-24 Spinner Nut
26028000| E-4010 Silencer Assembly 72200080| Needle Valve Extension Cable Set
22681953 Pressure Fitting 73101010 Long Propeller Nut Set
26028100 Assembly Screw 26028040| LA Series Colored Silencer E-4010 Blue
26625210 Retaining Screw (C.M4x40 2pcs.) 26028010| E-4010S Super Silencer

26625340 | Silencer Extension Adaptor (Width 14.5mm)
26625500 | Silencer Extension Adaptor (Width 35.0mm)
71531000| Non-Bubble Weight

72403050 Super Filter (L)

79870040 | M4 Blind Nut (10pcs.)

55500003 | M4 Lock Washer (10sets.)

71521000| Long Socket Wrench With Plug Grip

The specifications are subject to alteration for improvement without notice.




